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Directions:

Study the following information carefully and answer the questions given below.

Nine persons - L, M, N, O, P, Q, R, S, and T are sitting in a straight line such that all of them
are facing towards South, but not necessarily in the same order. S sits fourth to the right of M,
where none of them sits at the end of the row.

Only one person sits between S and R, who sits to the left of S. The number of persons
sitting to the right of S is one less than the number of persons sitting to the left of O. Only two
persons sit between O and P. As many persons sit between P and S is same as between Q
and T. L sits second to the left of Q.

Q1. Who among the following person sits second to the left of N?
a) The one who sits third to the right of O

b) T

c)P

d) The one who sits immediate right of R

e) Bothcandd

Q2. As many persons sit to the left of L as to the right of .
ayM

b) T

c) The one who sits immediate left of Q

d) The one who sits immediate right of M

e) The one who sits at the right end of the row



Q3. What is the position of T with respect to R?
a) Second to the right

b) Immediate right

c) Fourth to the right

d) Second to the left

e) Third to the left

Q4. If all the persons are made to sit in the alphabetical order from the left end,
then how many persons remain unchanged in their position?

a) Three

b) Two

c) More than three
d) One

e) No one
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Q5. Who among the following person sits immediate left of the one who sits
second to the right of P?

a)N
b) The one who sits third to the left of R
c) The one who sits immediate left of Q
d) L

e) None of these

Directions:
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Study the following information carefully and answer the questions given below.

Six persons- R, S, T, U, V and W are sitting around a triangular table in such a way that three
persons are sitting in the corners facing inside whereas three persons are sitting in the middle
of the sides facing outside. Each person likes different chat items viz. Sevpuri, Dahipuri,
Bhelpuri, Panipuri, PavBhaji and Kachori.

R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaji. Only two
persons sit between the one who likes PavBhaji and Dahipuri. U sits opposite to the one who
likes Kachori and facing inside. W likes neither Panipuri nor Sevpuri. S sits second to the left
of T and likes Bhelpuri. V is an immediate neighbor of S butdoesn't like PavBhaiji.

Q6. U likes which among the following chat item?
a) Sevpuri
b) Bhelpuri
c) Panipuri
d) Kachori

e) Dahipuri

Q7. Who among the following person sits third to the left of the one who likes
Dahipuri?

a)u

b) The one who likes PavBhaji
c) The one who likes Kachori
d) S

e)T

Q8. Who among the following person sits to the immediate right of R?
a) The one who likes Bhelpuri
b) The one who likes Panipuri
c) The one who likes Dahipuri

d) v



e) U

Q9. Who among the following person likes Kachori?
a)R
b) T
c)U
d) W

e)V

Q10. If T is related to W and S is related to R in a certain way, then who among
the following person is related to U?

a)V

b) The one who likes PavBhaiji
c) The one who likes Kachori
d) S

e)BothC &D
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Answers to the above questions :

Q1. Answer: (a)
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| |

I |
BN

o4
—
e
—
= .

We have,
* S sits fourth to the right of M, where none of them sits at the end of the row.
* Only one person sits between S and R, who sits to the left of S.

From the above condition, there are three possibilities
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Again we have,

» The number of persons sitting to the right of S is one less than the number of persons sitting
to the left of O.

* Only two persons sit between O and P. From the above condition, case3 gets eliminated.
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Again we have,
» As many persons sit between P and S as between Q and T.
* L sits second to the left of Q. From the above condition, casel gets eliminated.

Hence, case 2 shows the final arrangement.
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Q2. Answer: (d)
Final arrangement
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We have,

* S sits fourth to the right of M, where none of them sits at the end of the row.



* Only one person sits between S and R, who sits to the left of S.
From the above condition, there are three possibilities
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Again we have,

» The number of persons sitting to the right of S is one less than the number of persons sitting
to the left of O.

* Only two persons sit between O and P. From the above condition, case3 gets eliminated.
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Again we have,
* As many persons sit between P and S as between Q and T.
* L sits second to the left of Q. From the above condition, casel gets eliminated.

Hence, case 2 shows the final arrangement.
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Q3. Answer: (e)
Final arrangement
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We have,

* S sits fourth to the right of M, where none of them sits at the end of the row.
* Only one person sits between S and R, who sits to the left of S.

From the above condition, there are three possibilities
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Again we have,

» The number of persons sitting to the right of S is one less than the number of persons sitting
to the left of O.

* Only two persons sit between O and P. From the above condition, case3 gets eliminated.
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Again we have,
* As many persons sit between P and S as between Q and T.
* L sits second to the left of Q. From the above condition, casel gets eliminated.

Hence, case 2 shows the final arrangement.
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Q4. Answer: (d)
Final arrangement
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We have,

* S sits fourth to the right of M, where none of them sits at the end of the row.
» Only one person sits between S and R, who sits to the left of S.

From the above condition, there are three possibilities
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Again we have,

» The number of persons sitting to the right of S is one less than the number of persons sitting
to the left of O.

* Only two persons sit between O and P. From the above condition, case3 gets eliminated.
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Again we have,

* As many persons sit between P and S as between Q and T.

* L sits second to the left of Q. From the above condition, casel gets eliminated.

Hence, case 2 shows the final arrangement.
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We have,

* S sits fourth to the right of M, where none of them sits at the end of the row.

» Only one person sits between S and R, who sits to the left of S.

From the above condition, there are three possibilities
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Again we have,



» The number of persons sitting to the right of S is one less than the number of persons sitting
to the left of O.

* Only two persons sit between O and P. From the above condition, case3 gets eliminated.
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* As many persons sit between P and S as between Q and T.
* L sits second to the left of Q. From the above condition, casel gets eliminated.

Hence, case 2 shows the final arrangement.
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Q6. Answer: (a)
(Bhelpuri)
5
(Kachori)V W(Pav Bhaji)
T~ I \ _
(Dahipuri) ﬁ . U (Sevpuri)
(Panipuri)

We have,

* R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaiji.
* Only two persons sit between the one who likes PavBhaji and Dahipuri.

* U sits opposite to the one who likes Kachori and facing inside.

From the above conditions, there are three possibilities.



{Pav Bhaji) u

{Kachari) w [Pav Bhafi)

{Dahipuri} {Dahipuri}

R
(Kachori)

(Kachori) [Paw Bhajl)

{Dahipuri) 4

Again we have,

» W likes neither Panipuri nor Sevpuri.

* S sits second to the left of T and likes Bhelpuri.

* V is an immediate neighbor of S but doesn't like PavBhaiji.
From the above conditions,Casel and Case2 get eliminated.

Hence Case2a shows the final arrangement.
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T ki, .
(Dahipuri) ﬁ | U (Sevpuri)
(Panipuri)
Q7. Answer: (b)
(Bhelpuri)
S
(Kachori)V W(Pav Bhaji)
T I "
(Dahipuri) ﬁ | U (Sevpuri)
{Panipuri)
We have,

* R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaiji.



* Only two persons sit between the one who likes PavBhaji and Dahipuri.
* U sits opposite to the one who likes Kachori and facing inside.

From the above conditions, there are three possibilities.
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U Dal M
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R
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(Kachori) [Paw Bhajl)
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Again we have,

» W likes neither Panipuri nor Sevpuri.

* S sits second to the left of T and likes Bhelpuri.

* V is an immediate neighbor of S but doesn't like PavBhaiji.
From the above conditions,Casel and Case?2 get eliminated.

Hence Case2a shows the final arrangement.



(Pav Bhaji)Vv

(Kachori)

(Da f—rripuri}

U

T(Pav Bhaji)
(Bhelpuri)

oA
(Dahipuri) R
(Kachori)
(Bhelpuri)s

(Kachori)V W(Pav Bhaji)

Casela

T ki, .
(Dahipuri) ﬁ | U (Sevpuri)
(Panipuri)
Q8. Answer: (c)
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We have,

* R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaiji.



* Only two persons sit between the one who likes PavBhaji and Dahipuri.
* U sits opposite to the one who likes Kachori and facing inside.

From the above conditions, there are three possibilities.
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Again we have,

» W likes neither Panipuri nor Sevpuri.

* S sits second to the left of T and likes Bhelpuri.

* V is an immediate neighbor of S but doesn't like PavBhaiji.
From the above conditions,Casel and Case?2 get eliminated.

Hence Case2a shows the final arrangement.
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Q9. Answer: (e)
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We have,

* R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaiji.



* Only two persons sit between the one who likes PavBhaji and Dahipuri.
* U sits opposite to the one who likes Kachori and facing inside.

From the above conditions, there are three possibilities.
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Again we have,

» W likes neither Panipuri nor Sevpuri.

* S sits second to the left of T and likes Bhelpuri.

* V is an immediate neighbor of S but doesn't like PavBhaiji.
From the above conditions,Casel and Case?2 get eliminated.

Hence Case2a shows the final arrangement.
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Q10. Answer: (e)
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We have,

* R who doesn't like Sevpuri sits second to the right of the one who likes PavBhaiji.



* Only two persons sit between the one who likes PavBhaji and Dahipuri.
* U sits opposite to the one who likes Kachori and facing inside.

From the above conditions, there are three possibilities.
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Again we have,

» W likes neither Panipuri nor Sevpuri.

* S sits second to the left of T and likes Bhelpuri.

* V is an immediate neighbor of S but doesn't like PavBhaiji.
From the above conditions,Casel and Case?2 get eliminated.

Hence Case2a shows the final arrangement.
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